
Q .1  Whic h s tate emerged as  the c hampion at  the firs t  ever  Khelo  India  Water  S ports            
Fes t ival  ( Dal  L ake,  S r inagar)  in A ugus t  2 0 2 5?                 

A ns  1. Odisha
2. Kerala
3. Madhya Pradesh
4. Chhattisgarh

Q .2  Whic h edit ion of the National  G ames  of Ind ia  were held  ac ros s  var ious  venues  in the               
s tate of Uttarakhand in January - February  2 0 2 5?        

A ns  1. 36th

2. 38th

3. 39th

4. 37th

Q .3  From whic h loc at ion d id  Pr ime M inis ter  Narendra M odi  launc h the 'S was th Nar i ,                  
S as hakt  Par ivar  A bhiy aan’?      

A ns  1. Dhar
2. Bhopal
3. Gwalior
4. Indore

Q .4  Whic h Indian s tate announced a s ubs idy  programme in M arc h 2 0 2 5 to  s upport  gig             
workers  in purc has ing elec tr ic  s c ooters?        

A ns  1. Maharashtra
2. Tamil Nadu
3. Gujarat
4. Karnataka
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Q . 5   The 'A nbu Karangal '  s c heme,  provid ing monthly  financ ial  as s is tance to  parentles s               
c hi ldren ( unti l  age 1 8)  in order  to  prevent s c hool  dropouts ,  was  launc hed in whic h                   
s tate?

A ns  1. Tamil Nadu
2. Kerala
3. Telangana
4. Andhra Pradesh

Q .6  A fter  a  2 - y ear  delay ,  whic h US - bas ed c ompany  has  del ivered the firs t  of  99 F4 0 4 -                      
IN2 0  engines  to  Hindus tan A eronautic s  L imited ( HA L )  for  the Tejas  L ight C ombat                
A irc raft  ( LC A)  M k- 1 A  programme in M arc h 2 0 2 5?               

A ns  1. Lockheed Martin
2. Northrop Grumman
3. RTX Corporation
4. GE Aerospace

Q .7  Whic h s tate government introduced the 'M arus inc hana'  s c heme to  help s tudents  in             
c las s es  V I–X who are lagging ac ademic al ly ,  by  us ing remedial  educ at ion modules  and                
expanding to  more d is tr ic ts?    

A ns  1. Gujarat
2. Tamil Nadu
3. Maharashtra
4. Karnataka

Q .8  In July  2 0 2 5,  whic h indigenous  mis s i le had two s ucces s ful  fl ight- tes ts  by  DRDO,                    
mark ing an important miles tone towards  its  induc t ion into  the armed forces?          

A ns  1. Pralay
2. BrahMos-ER
3. Rudram-I
4. Varunastra

Q .9  Who is  the C hief M inis ter  of  O dis ha,  as  of  A ugus t  2 0 2 5?                 
A ns  1. Naveen Patnaik

2. Sarat Pattanayak
3. Mohan Charan Majhi
4. Baijayant Panda
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Q .1 0   The Nuc lear  E nergy  M is s ion announced in the Union Budget 2 0 2 5–2 6 foc us es  on the              
res earc h and development of whic h of the fo l lowing?    

A ns  1. Fast Breeder Reactors
2. Small Modular Reactors
3. Thorium-based Reactors
4. Fusion Energy Reactors

Q .1 1   In humans ,  the determination of a  c hi ld 's  s ex is  infl uenced by :            
A ns  1. mother's gamete

2. environmental factors
3. blood group
4. father's gamete

Q .1 2   'Daks hin:  S outh Indian M y ths  and Fables  Retold ' ,  whic h won the S ahity a A kademi 's               
Bal  S ahity a Puras kar,  2 0 2 5,  is  authored by  whic h of the fo l lowing wr iters?               

A ns  1. Subhadra Sen Gupta
2. Nandini Sengupta
3. Om Goswami
4. Nitin Kushalappa

Q .1 3   S attr iy a dance,  a  c las s ic al  Ind ian dance form, or iginated in the s attras  or               
monas ter ies  of  whic h Indian s tate?      

A ns  1. West Bengal
2. Assam
3. Manipur
4. Odisha

Q .1 4   Whic h loc at ion is  being trans formed into  a  her itage mus eum in 2 0 2 5,  or iginal ly  bui lt                   
by  the C hand dy nas ty ?    

A ns  1. Malla Mahal, Almora
2. Thirumalai Nayakkar Mahal, Madurai
3. Jagannath Dham, Digha
4. RK Narayan’s house, Mysuru
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Q .1 5   The fl uffines s  of c akes  and id l is  is  due to  the releas e of c arbon d ioxide gas  when               
bak ing s oda reac ts  with whic h of the fo l lowing?      

A ns  1. Acid
2. Oil
3. Sugar
4. Salt

Q .1 6   C hikankar i  embroidery ,  a  tradit ional  and intr ic ate hand embroidery  s ty le,  or iginates               
from whic h Indian s tate?  

A ns  1. West Bengal
2. Uttar Pradesh
3. Gujarat
4. Rajasthan

Q .1 7   Whic h harmful  gas  has  a  greater  affinity  for  haemoglobin than oxy gen and thus        
s everely  impairs  human res pirat ion?     

A ns  1. Methane (CH₄)
2. Carbon dioxide (CO₂)
3. Nitrogen dioxide (NO₂)
4. Carbon monoxide (CO)

Q .1 8   Renowned Hindus tani  s inger  V i lay at  Hus s ain Khan belonged to  whic h of the fo l lowing             
gharanas?

A ns  1. Agra gharana
2. Gwalior gharana
3. Jaipur Atroli gharana
4. Rampur Saheswan gharana

Q .1 9   A s  of M arc h 2 0 2 5,  how many  offic ial ly  dec lared E lephant Res erves  does  India  have?                  
A ns  1. 31

2. 32
3. 33
4. 34
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Q .2 0   Whic h s tate government announced 'NaM o gardens '  in 3 94  munic ipal  c ounc i ls  and              
nagar  panc hay ats  to  mark  Pr ime M inis ter  Narendra M odi ’s  75              t h   B irthday  in  
S eptember 2 0 2 5?   

A ns  1. Maharashtra
2. Uttar Pradesh
3. Telangana
4. Rajasthan

Q .1  Praveen and Hemant s tart  a  bus ines s  together.  Praveen inves ts  ₹1 6 ,0 0 0  more than              
Hemant for  2  months ,  whi le Hemant inves ts  for  3  months .  O ut of a  total  profit of              
₹4 ,63 5,  Praveen’s  s hare exceeds  Hemant ’s  by  ₹1 , 54 5.  Find the amount inves ted by              
Praveen.

A ns  1. ₹24,000
2. ₹24,053
3. ₹23,955
4. ₹24,045

Q .2  Three numbers  are in the rat io  5 :  3  :  2 ,  and their  LC M  is  3 870 .  Their  HC F is :                     
A ns  1. 129

2. 170
3. 137
4. 160

Q .3  The rat io  of  the inc ome to  the expenditure of a  family  is  1 3  :  9 .  I f  the family 's                   
expens es  are ₹1 3, 50 0 ,  then find the s av ings  of the family .          

A ns  1. ₹5,000
2. ₹4,000
3. ₹6,000
4. ₹7,000

Q .4  A  pers on who s pends  70 % of his  monthly  inc ome is  able to  s ave ₹4 ,989 per  month.              
His  monthly  expens es  ( in ₹)  are:     

A ns  1. 11,634
2. 11,629
3. 11,641
4. 11,664
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Q . 5   If  a  :  c  =  3 5 :  3 6  and c  :  e =  2 0  :  2 1 ,  then what is  the value of a  :  c  :  e?                              
A ns  1. 175 : 189 : 180

2. 175 : 180 : 189
3. 180 : 189 : 175
4. 180 : 175 : 189

Q .6  A  s hopkeeper  l is ts  the pr ice of a  fan at  2 0 % above its  c os t  pr ice and offers  a  1 0 %                     
dis c ount on its  l is t  pr ice.  I f  he earns  a  profit of ₹97,  then what is  the l is t  pr ice ( in ₹)                        
of the fan?

A ns  1. 1,250
2. 1,264
3. 1,620
4. 1,455

Q
.
7
A
n
s

1. 71,346.17

2. 73,297.71

3. 72,436.71

4. 74,316.17

Q .8  The average of 1 0  numbers  is  1 5.  The average of 8  of  thes e numbers  is  1 7.  The              
average of the remaining two numbers  is :  

A ns  1. 6
2. 7
3. 9
4. 8

Q .9  The volume of a cone is 1,232 cm³ and its height is 24 cm. Find the radius of its base.

A ns  1. 7 cm

2. 8 cm
3. 9 cm
4. 10 cm

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


Q .1 0   A  pers on travels  from c ity  A  to  c ity  B  at  a  s peed of 4 0  km/ hr  and returns  from c ity  B                   
to  c ity  A  at  a  s peed of 60  km/ hr.  What is  the average s peed for  the ent ire journey ?               

A ns  1. 50 km/hr
2. 48 km/hr
3. 46 km/hr
4. 48.5 km/hr

Q .1 1   Two trains  are travel l ing toward eac h other  on paral lel  trac ks .  Their  s peed rat io  is  3  :                 
2 ,  and their  c ombined length is  50 0  metres .  I f  both inc reas e their  s peeds  by  5 km/ hr,                     
they  c ros s  eac h other  2  s ec onds  fas ter.  What are their  or iginal  s peeds?               

A ns  1. 72 km/hr and 48 km/hr
2. 81 km/hr and 54 km/hr
3. 54 km/hr and 36 km/hr
4. 45 km/hr and 30 km/hr

Q .1 2   E valuate:  51  − [ 2 5 − { 2 1  − ( 1 2  − 9  + 6) } ] .                
A ns  1. 35

2. 37
3. 38
4. 36

Q .1 3   A  was hing mac hine is  marked at  ₹2 0 ,0 0 0 .  A fter  a  1 5% dis c ount ,  an onl ine vouc her                     
gives  an addit ional  4% dis c ount on the reduced pr ice.  What wi l l  be the final  pr ice?           

A ns  1. ₹16,350
2. ₹16,360
3. ₹16,380
4. ₹16,320

Q .1 4   4 4  men c an do a piece of work  in 2 8 day s .  The number of men required to  c omplete          
the s ame work  in 4 4  day s  is :        

A ns  1. 31
2. 26
3. 25
4. 28
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Q .1 5   A  manufac turer  s el ls  a  produc t  to  a  wholes aler  at  a  profit of 2 5%.  The wholes aler,  in                   
turn,  s el ls  it  to  a  retai ler  at  a  profit of 2 0 %, and the retai ler  s el ls  it  to  a  c us tomer at                        
a profit of 1 0 %.  I f  the c us tomer pay s  ₹3 3 0 ,  find the c os t  pr ice ( in ₹)  for  the                     
manufac turer.

A ns  1. 203
2. 200
3. 202
4. 199

Q .1 6   A  r ight  c irc ular  c one and a r ight  c irc ular  c y l inder  have equal  bas e and equal  height .                   
I f  the radius  of the bas e and the height are in the rat io  8  :  1 5,  then the rat io  of  the              
total  s urface area of the c y l inder  to  that  of  the c one is :           

A ns  1. 47 : 23
2. 49 : 22
3. 48 : 29
4. 46 : 25

Q .1 7   The c urved s urface area of a  c y l inder  having radius  5 c m and height 3 8 c m is :           
A ns  1. 373 π cm2

2. 430 π cm2

3. 311 π cm2

4. 380 π cm2

Q .1 8   Rohan in his  footbal l  c areer,  s c ored 8  goals  on an average in 1 0  matc hes .  I f  he s c ored                    
1 2  goals  on an average in the firs t  5 matc hes  and 6  goals  on an average in the las t  3             
matc hes ,  then find the average of the goals  s c ored by  him per  matc h in the         
remaining 2  matc hes .  

A ns  1. 2 goals
2. 3 goals
3. 1 goal
4. 4 goals
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Q .1 9   The c os t  pr ice of an art ic le is  ₹70 0 ,  and its  marked pr ice is  ₹1 ,1 2 0 .  I f  the s el ler  offers                          
a d is c ount of 3 5% on the marked pr ice,  what wi l l  be his  profit percentage?         

A ns  1. 1%
2. 2%
3. 4%
4. 7%

Q .2 0   Work ing 6  hours  a  day ,  Raman c an c omplete a  piece of work  in 1 5 day s  and work ing 8              
hours  a  day  M ohan c an c omplete the s ame work  in 1 0  day s .  In how many  day s  would                 
they  c omplete the work ,  i f  work ing together  1 0  hours  in a  day ?              

A ns  1. 

2. 

3. 

4. 

Q .1  Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ter              
pairs  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  pair             
DO E S  NO T belong to  that  group?     
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their         
pos it ion in the letter- c lus ter. )       

A ns  1. WG – AB
2. OQ – SL
3. GA – KV
4. PN – TK

Q .2  Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows  (a l l                
numbers  are s ingle- d igit  numbers  only) .  C ounting to  be done from left  to  r ight  only .              

( L eft)  5 8  3  1  7  0  4  6  2  9  5 3  8  1  7  4  0  2  6  9  3  5 1  8  7  ( Right)                          

What is  the d ifference between the s quares  of the fourth number from the left  and      
the third  number from the r ight? 

A ns  1. 0
2. 6
3. 8
4. 5
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Q .3  S elec t  the s et  in whic h the numbers  are related in the s ame way  as  are the numbers           
of the fo l lowing s ets .    

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing           
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h as                      
adding to/s ubtrac t ing from/mult iply ing with 1 3  c an be performed.  Break ing down 1 3          
into  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )               

( 1 8 ,  2 8 ,  2 52 )        
( 1 6 ,  3 0 ,  24 0 )        

A ns  1. (14, 22, 308)
2. (30, 18, 280)
3. (26, 14, 264)
4. (24, 12, 144)

Q .4  S even people,  A ,  B,  C ,  D,  E ,  F  and G ,  are s itt ing in a  row,  fac ing north.  O nly  two people                      
s it  to  the left  of  A .  O nly  three people s it  between A  and F.  D  s its  s ec ond to  the r ight                    
of A .  O nly  two people s it  between D and G .  C  s its  at  s ome place to  the r ight  of B  but                
at  s ome place to  the left  of  E .  Who s its  on the extreme left  end?           

A ns  1. E
2. B
3. F
4. C

Q . 5   What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

6   1 6     2 8   60    1 1 6      ?
A ns  1. 234

2. 235
3. 237
4. 236
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Q .6  What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

9   1 5   4 5   51    1 53     1 59 ,      ?
A ns  1. 472

2. 182
3. 477
4. 175

Q .7  A ,  B,  C ,  D,  J ,  K  and L  are s itt ing around a c irc ular  table fac ing the centre of the table.                
K s its  to  the immediate r ight  of B.  O nly  three people s it  between K and A  when           
c ounted from the left  of  K .  O nly  three people s it  between B  and L .  C  s its  to  the                
immediate r ight  of D. 
How many  people s it  between J  and D when c ounted from the left  of  D?       

A ns  1. Two
2. Three
3. One
4. Four

Q .8  V irat  s tarts  from Point  A  and dr ives  8  km towards  the north.  He then takes  a  r ight             
turn,  dr ives  6  km, turns  r ight  and dr ives  1 3  km.  He then takes  a  r ight  turn and dr ives                
8 km.  He takes  a  final  r ight  turn,  dr ives  5 km and s tops  at  Point  P.  How far  (s hortes t                 
d is tance)  and towards  whic h d irec t ion s hould  he dr ive in order  to  reac h Point  A              
again?  ( A l l  turns  are 90 - degree turns  only  unles s  s pec ified . )               

A ns  1. 2 km to the west
2. 2 km to the east
3. 3 km to the west
4. 3 km to the east

Q .9  Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ters              
are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  DO E S  NO T               
belong to  that  group? 

( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their         
pos it ion in the letter- c lus ter. )       

A ns  1. LOQ
2. VXY
3. QST
4. GIJ
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Q .1 0   Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ter              
pairs  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  pair             
DO E S  NO T belong to  that  group?        
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their         
pos it ion in the letter- c lus ter. )       

A ns  1. DF - IK
2. QS - VX
3. LN - PS
4. SU - XZ

Q .1 1   E ac h of P,  Q ,  R,  S,  T,  U and V  has  an exam on a d ifferent day  of a  week  s tart ing from               
M onday  and ending on S unday  of the s ame week .  Q  has  an exam on Thurs day  and U          
has  an exam on S aturday .  T  has  an exam immediately  before S.  P  has  an exam on one         
of the day s  after  V.  R has  an exam immediately  after  S.  How many  people have exams        
between R and P?

A ns  1. 2
2. 1
3. 3
4. 4

Q .1 2   Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements : 
A l l  bats  are ears .    
A l l  ruffles  are ears .     

C onc lus ions :   
( I )    S ome bats  are ruffles .  
( I I )     S ome ears  are ruffles .  

A ns  1. Both conclusions (I) and (II) follow.
2. Only conclusion (I) follows.
3. Only conclusion (II) follows.
4. Neither conclusion (I) nor (II) follows.
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Q .1 3   In a  certain c ode language,  ‘M O NK ’ is  c oded as  ‘82 3 1 ’ and ‘M O A N’ is  c oded as  ‘3 52 8 ’ .                        
How is  ‘A’ c oded in that  language?    

A ns  1. 3
2. 2
3. 5
4. 1

Q .1 4   If  ‘A’ s tands  for  ‘÷ ’ ,  ‘B ’ s tands  for  ‘× ’ ,  ‘C ’ s tands  for  ‘+ ’ and ‘D ’ s tands  for  ‘− ’ ,  then what                          
wil l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation?            

2 3     B    4    D  63    A    3    C    1 4  = ? 
A ns  1. 85

2. 86
3. 65
4. 96

Q .1 5   Refer  to  the given letter,  s y mbol  s er ies  and ans wer  the ques t ion that  fo l lows .                 
C ounting to  be done from left  to  r ight  only .      

( L eft)      @  ^    &  E    V    T    #  F  F  M    L    Z    K  L    F  D   B    B    A    E    H  ( Right)

How many  s uc h s y mbols  are there,  eac h of whic h is  immediately  preceded by  a  letter               
and als o  immediately  fo l lowed by  a  letter?        

A ns  1. Three
2. One
3. Two
4. Four

Q .1 6   In a  certain c ode language,  ‘DE A L’ is  c oded as  ‘72 98’ and ‘A PE L’ is  c oded as  ‘2 678’ .                  
What is  the c ode for  ‘P ’ in the given c ode language?       

A ns  1. 6
2. 2
3. 7
4. 8
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Q .1 7   Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements : 
A l l  c rows  are s parrows .      
No c row is  a  peac oc k .      

C onc lus ions :   
( I )  No s parrow is  a  peac oc k .         
( I I )  S ome peac oc ks  are c rows .         

A ns  1. Neither conclusion (I) nor (II) follows.
2. Only conclusion (II) follows.
3. Only conclusion (I) follows.
4. Both conclusions (I) and (II) follow.

Q .1 8   In a  certain c ode language,  
A  + B  means  ‘A  is  the s is ter  of  B ’ ,           
A  @ B  means  ‘A  is  the brother  of B ’ ,        
A  # B  means  ‘A  is  the wife of B ’ ,       
and A  ÷  B  means  ‘A  is  the father  of B ’ .         

How is  W related to  U if  'W+E ÷ R@H#U’?      
A ns  1. Wife's mother

2. Wife's father's sister
3. Wife's sister
4. Wife's father's mother

Q .1 9   E ac h of P,  Q ,  R,  S,  T,  U and V  has  an exam on a d ifferent day  of a  week ,  s tart ing from                
M onday  and ending on S unday  of the s ame week .  U has  an exam on Fr iday .  O nly  2            
people have exams  between U and R.  V  has  an exam immediately  before Q  and T  has      
an exam immediately  after  S.  O nly  2  people have exams  between P  and Q .  Who has  an          
exam on S unday ? 

A ns  1. P
2. Q
3. T
4. V
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Q .2 0   In a  certain c ode language,  
A  = B  means  ‘A  is  the s is ter  of  B ’ ,           
A  $ B  means  ‘A  is  the brother  of B ’ ,        
A  @ B  means  ‘A  is  the wife of B ’ ,       
and A  *  B  means  ‘A  is  the father  of B ’ .         

How is  A  related to  K i f  ‘A  $ R = F *  B  @ K ’?         
A ns  1. Wife's father

2. Wife's father's brother
3. Wife's brother
4. Father's brother

Q .1  S elec t  the mos t appropr iate punc tuation mark  to  be us ed in place of the blank .  I f  no              
punc tuation mark  is  required ,  s elec t  ‘No punc tuation required ’ .           

The hous e at  the far  end of the v i l lage is  her_____s .        
A ns  1. Semi colon (;)

2. Colon (:)
3. No punctuation required
4. Apostrophe (')

Q .2  S elec t  the mos t appropr iate A NTO NYM  of the under l ined word in the given s entence.           

E ac h brother  has  a       s pec ific    ro le in the organis at ion:  Jos h des igns  the phy s ic al           
loc at ions ,  Jes s e books  the mus ic  and Dede runs  the produc tion.              

A ns  1. Minimal
2. Extreme
3. Precise
4. General
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Q .3  S elec t  the mos t appropr iate one- word s ubs t itute for  the under l ined group of words           
in the given s entence.

The beauty  of the s uns et  was  breathtak ing but       las t ing a very  s hort  t ime      .
A ns  1. ephemeral

2. lugubrious
3. recalcitrant
4. pernicious

Q .4  S elec t  the mos t appropr iate option to  fil l  in the blank .         

His  hous e is  ____ the r ight  s ide of the park .       
A ns  1. in

2. on
3. within
4. at

Q . 5   S entences  of a  paragraph are given below in jumbled order.  A rrange the s entences  in         
the c orrec t  order  to  form a meaningful  and c oherent paragraph.      
A .  F inland is  home to  Tapio ,  the wor ld 's  northernmos t M ic hel in s tar  res taurant ,                  
loc ated in Ruka- Kuus amo.   
B.  A c ros s  Hels ink i ,  many  res taurants  highl ight  mus hrooms ,  berr ies ,  fis h and game in                     
their  s eas onal  menus .    
C .  In 2 0 24 ,  the S aimaa L akeland region was  honoured as  a  E uropean Region of            
G as tronomy .  
D.  Thanks  to  'E very man's  Right , '  every one in Finland c an freely  roam and forage in              
nature's  bounty . 

A ns  1. ACBD
2. BACD
3. CDBA
4. ADBC
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Q .6  S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the under l ined              
group of words .

Toy aj    s peaks  les s      in the forum.  Toy aj  is  _____ .      
A ns  1. banal

2. reticent
3. garrulous
4. unintelligible

Q .7  S elec t  the option that  rec t ifies  the s pel l ing error  in the highl ighted word .             

A fghanis tan has     deffinittely   been the weaker  s ide in the firs t  half  of  the game.      
A ns  1. Definitaly

2. Defenetly
3. Definttely
4. Definitely

Q .8  S elec t  the option that  rec t ifies  the inc orrec t  us e of punc tuation in the given             
s entence.

The meeting wi l l  be held  tomorrow at  1 0  A M , however;  we wi l l  d is c us s  the new                 
projec t  detai ls  next  week .      

A ns  1. The meeting will be held tomorrow at 10 AM, however, we will discuss the new project
details next week.

2. The meeting will be held tomorrow at 10 AM, however we will discuss the new project
details next week.

3. The meeting will be held tomorrow at 10 AM: however we will discuss the new project
details next week.

4. The meeting will be held tomorrow at 10 AM; however, we will discuss the new project
details next week.
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Q .9  S elec t  the mos t appropr iate meaning of the given proverb.    

There’s  no s uc h thing as  a  free lunc h.      
A ns  1. Complaints and persistence are always rewarded.

2. It is not possible to get something that is desired or valuable without having to pay for it
in some way.

3. One should expect collective benefit during general improvement.
4. There is danger in indecision.

Q .1 0   S entences  of a  paragraph are given below.  While the firs t  and the las t  s entences  ( 1           
and 6)  are in the c orrec t  order,  the s entences  in between are jumbled up.  A rrange           
the s entences  in the c orrec t  order  to  form a meaningful  and c oherent paragraph.         

1 .  O nce upon a t ime,  a  man,  named Tang A o ,  c ros s ed an ocean.            
A)  I f  he had male c ompanions ,  he would  have winked over  his  s houlder.          
B)  He c ame upon the L and of Women.  
C )  When they  as ked Tang A o to  c ome along,  he fo l lowed .          
D)  The women immediately  c aptured him not on guard agains t  lad ies .        
6 .  What k ind of pers on does  Tang A o s eem to  be?       

A ns  1. CADB
2. ABDC
3. BDCA
4. DCAB

Q .1 1   S elec t  the c orrec t ly  s pelt  word .         
A ns  1. sceptier

2. sceptre
3. septer
4. scepter

Q .1 2   S elec t  the mos t appropr iate s y nony m of the under l ined word .          

The hars h and  untamed  hors e gal loped away ,  and the s tart led  and c onfus ed r ider  fel l           
off.

A ns  1. Obedient
2. Nervous
3. Delicious
4. Wild
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Q .1 3   Identify  the error  in the given s entence and s elec t  the option that  c an s ubs t itute           
and rec t ify  it .    

He is  exc ited to  part ic ipat ing in the upc oming c ompetit ion.          
A ns  1. about participating

2. about the upcoming competition
3. for participate
4. to the upcoming competition

Q .1 4   S elec t  the mos t appropr iate meaning of the given proverb.    

A  hungry  bel ly  has  no ears .     
A ns  1. A well-fed person ignores all opinions freely.

2. A starving person ignores advice or reasoning.
3. A hungry person listens more than usual.
4. A starving person listens to advice carefully.

Q .1 5   S elec t  the mos t appropr iate art ic le to  fil l  in the blank .  I f  no  art ic le is  needed ,  s elec t                        
'No art ic le required ' .   

________ letter  that  we received y es terday  was  s ent by  my  grandad .          
A ns  1. A

2. No article required
3. An
4. The

C omprehens ion: 
I n the  fol lowing passage ,  some  words have  be e n de le te d.  Re ad the  passage  care ful l y  and se le ct the  most
appropriate  op"on to fil l  in e ach blank.  S e le ct the  most appropriate  op"on to fil l  in the  blank.

The  conce pt of  sustainable  archi te cture  re fe rs to de sign approache s that 1._____ e nvi ronme ntal  inte gri ty.  The se
structure s o(e n incorporate  re ne wable  e ne rgy,  low- impact mate rial s,  and de sign principle s that 2._____ e ne rgy
consump"on. B e yond the  func"onal ,  sustainable  archi te cture  e mbrace s ae sthe "cs that 3._____ harmony wi th
nature .  The  move me nt i s  gaining mome ntum as cl imate  change  and urban sprawl  4._____ pre ssure  on ci"e s to
e volve .  I ts  long-te rm succe ss wi l l  5._____ publ i c aware ne ss and pol i cy al i gnme nt.

S ubQ ues t ion No :  1 6       
Q .1 6   S e lect the  most appropriate  op�on to fil l  in blank number 1.

A ns  1. e x ploi t

2. safe guard

3. ove rlook

4. mi"gate
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C omprehens ion: 
I n the  fol lowing passage ,  some  words have  be e n de le te d.  Re ad the  passage  care ful l y  and se le ct the  most
appropriate  op"on to fil l  in e ach blank.  S e le ct the  most appropriate  op"on to fil l  in the  blank.

The  conce pt of  sustainable  archi te cture  re fe rs to de sign approache s that 1._____ e nvi ronme ntal  inte gri ty.  The se
structure s o(e n incorporate  re ne wable  e ne rgy,  low- impact mate rial s,  and de sign principle s that 2._____ e ne rgy
consump"on. B e yond the  func"onal ,  sustainable  archi te cture  e mbrace s ae sthe "cs that 3._____ harmony wi th
nature .  The  move me nt i s  gaining mome ntum as cl imate  change  and urban sprawl  4._____ pre ssure  on ci"e s to
e volve .  I ts  long-te rm succe ss wi l l  5._____ publ i c aware ne ss and pol i cy al i gnme nt.

S ubQ ues t ion No :  1 7       
Q .1 7   S e lect the  most appropriate  op�on to fil l  in blank number 2.

A ns  1. trigge r

2. ampl i fy

3. e scalate

4. minimise

C omprehens ion: 
I n the  fol lowing passage ,  some  words have  be e n de le te d.  Re ad the  passage  care ful l y  and se le ct the  most
appropriate  op"on to fil l  in e ach blank.  S e le ct the  most appropriate  op"on to fil l  in the  blank.

The  conce pt of  sustainable  archi te cture  re fe rs to de sign approache s that 1._____ e nvi ronme ntal  inte gri ty.  The se
structure s o(e n incorporate  re ne wable  e ne rgy,  low- impact mate rial s,  and de sign principle s that 2._____ e ne rgy
consump"on. B e yond the  func"onal ,  sustainable  archi te cture  e mbrace s ae sthe "cs that 3._____ harmony wi th
nature .  The  move me nt i s  gaining mome ntum as cl imate  change  and urban sprawl  4._____ pre ssure  on ci"e s to
e volve .  I ts  long-te rm succe ss wi l l  5._____ publ i c aware ne ss and pol i cy al i gnme nt.

S ubQ ues t ion No :  1 8       
Q .1 8   S e lect the  most appropriate  op�on to fil l  in blank number 3.

A ns  1. de fy

2. imi tate

3. e cho

4. provoke

C omprehens ion: 
I n the  fol lowing passage ,  some  words have  be e n de le te d.  Re ad the  passage  care ful l y  and se le ct the  most
appropriate  op"on to fil l  in e ach blank.  S e le ct the  most appropriate  op"on to fil l  in the  blank.

The  conce pt of  sustainable  archi te cture  re fe rs to de sign approache s that 1._____ e nvi ronme ntal  inte gri ty.  The se
structure s o(e n incorporate  re ne wable  e ne rgy,  low- impact mate rial s,  and de sign principle s that 2._____ e ne rgy
consump"on. B e yond the  func"onal ,  sustainable  archi te cture  e mbrace s ae sthe "cs that 3._____ harmony wi th
nature .  The  move me nt i s  gaining mome ntum as cl imate  change  and urban sprawl  4._____ pre ssure  on ci"e s to
e volve .  I ts  long-te rm succe ss wi l l  5._____ publ i c aware ne ss and pol i cy al i gnme nt.

S ubQ ues t ion No :  1 9       
Q .1 9   S e lect the  most appropriate  op�on to fil l  in blank number 4.

A ns  1. e x e rt

2. di lute

3. l e sse n

4. mode rate
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C omprehens ion: 
I n the  fol lowing passage ,  some  words have  be e n de le te d.  Re ad the  passage  care ful l y  and se le ct the  most
appropriate  op"on to fil l  in e ach blank.  S e le ct the  most appropriate  op"on to fil l  in the  blank.

The  conce pt of  sustainable  archi te cture  re fe rs to de sign approache s that 1._____ e nvi ronme ntal  inte gri ty.  The se
structure s o(e n incorporate  re ne wable  e ne rgy,  low- impact mate rial s,  and de sign principle s that 2._____ e ne rgy
consump"on. B e yond the  func"onal ,  sustainable  archi te cture  e mbrace s ae sthe "cs that 3._____ harmony wi th
nature .  The  move me nt i s  gaining mome ntum as cl imate  change  and urban sprawl  4._____ pre ssure  on ci"e s to
e volve .  I ts  long-te rm succe ss wi l l  5._____ publ i c aware ne ss and pol i cy al i gnme nt.

S ubQ ues t ion No :  2 0      
Q .2 0   S e lect the  most appropriate  op�on to fil l  in blank number 5.

A ns  1. de pe nd on

2. e l iminate

3. abandon

4. discourage

Q .1  Whic h of the fo l lowing loc at ions  receives  the highes t  ra infal l  in Ind ia?               
A ns  1. Kohima

2. Darjeeling
3. Shillong
4. Mawsynram

Q .2  Whic h C hola ruler  as s umed the t it le of  'M aduraikondavan'?         
A ns  1. Rajaraja I

2. Rajendra Chola
3. Parantak I
4. Vijayalaya

Q .3  Whic h of the fo l lowing is  c ons idered the pr imary  defec t  of  the barter  s y s tem?               
A ns  1. Storing value is difficult

2. Absence of double coincidence of wants
3. Goods are not generally acceptable
4. Goods cannot always be divided into smaller units

Q .4  Whic h of the fo l lowing bodies  s uperv is es  the func t ioning of formal  s ources  of loans             
in India?

A ns  1. Reserve Bank of India
2. Securities and Exchange Board of India
3. International Monetary Fund
4. State Cooperative Banks
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Q . 5   The Tr ipart ite S truggle ( 9    t h   century  C E )  was  fought mainly  for  the c ontro l  of :          

A ns  1. Ujjain
2. Pataliputra
3. Kannauj
4. Delhi

Q .6  Whic h s pec ies  is  c ons erved under  Pro jec t  Hangul?           
A ns  1. Snow Leopard

2. Bengal Tiger
3. Wild Ass
4. Kashmiri Stag

Q .7  The eas tward fl ow of mos t  penins ular  r ivers  of  Ind ia  is  mainly  due to :               
A ns  1. Uplift of the Indo-Gangetic plains

2. Faulting of the Western Ghats
3. Tilt of the Peninsular block towards the southeast
4. Subsidence of the Ganga–Brahmaputra delta

Q .8  M umbai  exper iences  lower  temperatures  and higher  rainfal l  than Nagpur,  es pec ia l ly               
between June and S eptember,  even though both c it ies  are loc ated on the s ame       
lat itude.  Whic h fac tor  is  res pons ible for  this  phenomenon?          

A ns  1. Continentality or the distance from the Sea
2. Nature of the prevailing winds
3. Altitude or the height from the mean sea level
4. Latitudinal location or distance from the equator

Q .9  Whic h non- c ons t itut ional  body  in Ind ia  was  replaced with NIT I  A ay og in 2 0 1 5?                    
A ns  1. National Development Council

2. Finance Commission
3. Planning Commission
4. Election Commission

Q .1 0   Whic h of the fo l lowing is  an example of a  D irec t ive Pr inc iple ins pired by  G andhian              
pr inc iples? 

A ns  1. Organisation of village panchayats
2. Uniform Civil Code
3. Equal pay for equal work
4. Promotion of international peace
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Q .1 1   What was  the main purpos e of introduc ing the G oods  and S erv ices  Tax (G S T) ?           
A ns  1. To increase customs revenue

2. To collect more income tax
3. To simplify the tax structure
4. To increase the tax burden

Q .1 2   Whic h Par l iamentary  C ommittee is  res pons ible for  examining the acc ounts  s howing            
the appropr iat ion of s ums  granted by  Par l iament and the audit  reports  of  the         
C omptrol ler  and A uditor  G eneral  (C A G ) ?           

A ns  1. Business Advisory Committee
2. Committee on Petitions
3. Public Accounts Committee (PAC)
4. Estimates Committee

Q .1 3   C hota Nagpur P lateau is  known for  the highes t  c oncentrat ion of whic h of the         
fo l lowing mineral  indus tr ies?     

A ns  1. Coal and quartz
2. Gold and marble
3. Iron and steel
4. Garnet and clay

Q .1 4   The Q uit  Ind ia  M ovement of 1 94 2  is  c ons idered a turning point  bec aus e:               
A ns  1. it was the first movement led by Subhas Chandra Bose

2. it marked the final mass struggle, forcing Britain to consider withdrawal
3. it secured immediate independence for India
4. it united all princely states under Congress

Q .1 5   A cc ording to  the 73   r d   A mendment ,  the S tate E lec t ion C ommis s ion is  res pons ible for :              

A ns  1. conducting Panchayat and Municipal elections
2. conducting Presidential elections
3. conducting Lok Sabha elections
4. conducting State Assembly elections
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Q .1 6   Whic h C ons t itut ional  A mendment A c t  introduced the 'Panc hay ats '  in Ind ia?                  
A ns  1. 42nd  Amendment Act, 1976

2. 73rd  Amendment Act, 1992

3. 74th  Amendment Act, 1992

4. 86th  Amendment Act, 2002

Q .1 7   A rrange thes e ranges  from s outh to  north:  Karakoram, L adakh,  Zas kar,  H imadr i .            
A ns  1. Himadri – Karakoram – Ladakh – Zaskar

2. Himadri – Zaskar – Ladakh – Karakoram
3. Himadri – Ladakh – Zaskar – Karakoram
4. Zaskar – Himadri – Ladakh – Karakoram

Q .1 8   Whic h of the fo l lowing was/were the c as te movements  of Ind ia?       

I .  Young Bengal  M ovement   
I I .  S elf- res pec t  M ovement        
I I I .  Theos ophic al  M ovement       
IV.  Vaikom S aty agraha  

A ns  1. I, II and III
2. IV only
3. II and IV only
4. III and IV only

Q .1 9   What is  per  c apita inc ome?     
A ns  1. Income earned by farmers

2. Total income of a country divided by its population
3. Income from foreign trade
4. Total savings of a person in a year

Q .2 0   M ahatma G andhi  launc hed the Kheda S aty agraha in G ujarat  in whic h of the fo l lowing             
y ears?

A ns  1. 1942
2. 1918
3. 1921
4. 1931
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